


MaTeMaTumyeckKas
Ppa3MUHKa




6 cm

Ilepumerp=18 cm



S cMm

3 cMm

IHepumerp= 16 cm
Ilnomaab= A5 cm?



ri4 CM

Ilepumerp-64 cm



«MCBbMEHHOE
AOENEHUE
HA I1BY3HAYHOE
UANCITIO»



*252:28=9 (1 uudpa)
*420:28 =15 (2 mudps1)
*28560:28=102 (3 mudpsi)
*10332:28 =369 (3 uudps)



OunenuBaro

IlpumeHsito

IloBTOpSIO



1)50:(8-6)=25(xM/49)-CKOPOCTh TCILIOXOA.
2)25*8=200(xM)-TIpo1Iea B ICPBbIN JICHB.
3)25*6=150(xkm)-mpoiies BO BTOPOM JICHb.

OTBET: B IEPBBIN JCHb TCILIOXO IPOIIESI
200 kM, a BO BTOpou- 150 kM.
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OunenuBaro

IlpumeHsito

U3syuaro






